Sat Feb 26 11: 2B 47 1994

SEE STAIR

FTG. DETAIL / 4\
\s7/

10 Trex
S e g,
(7" RispRe 4538974
A
0
AR
z
[ XOS @
/?/S\‘ 7
N

SN

N
SEE SKYLIGHT ROOF SCUTTLE DETAIL / 2\,

"~ TYPICAL 5 PLACES

N
NEZ .
AN

SEE SUPPLY FAN

DETAIL /71

e
~—

|« TYPICAL 2 PLACHS

\57/

16'—=0" TYP. Y

—

7/

/7

/

|

127X36” WELDED GALV. GRATING STAIR
TREAD WITH CHECKERED PLATE NOSING
WITH 7/16”¢ HOLES FOR 2 - 3/8"¢
'316SS BOLTS EA. SIDE

SEE TYP. FIELD

SPLICE DETAIL

SEE RAILING DETAILS / 57\ / 7\

8
7,

$ELE\/ATRON AS
SHOWN ON PLAN

AV

3/16"
SEAL>—1——‘5}—®/

-
. o
2 36" WIDE GALV. GRATING ON
GV; L2 1/2 X 2 1/2 X 1/4 WELDED
*\G,  TO C12X20.7 EA. SIDE

STAIR AND LANDING ELEVATION /3

C12X20.7 STAIR STRINGER

A,

DT WALL PANEL
STEM (TYP.)

aE

C12X20.7 STAIR STRINGER

SEE STAIR SUPPORT SECTION /6

\87/

SEE RAILING DETAILS /7

% 2
% . g
X oY a—
N
N
)

1 1/2';J10 1/2”C°: ==
Ty, ™

v

(s

127X36” WELDED GALV. GRATING STAIR
TREAD WITH CHECKERED PLATE NOSING

3/8” END & BASE P

CONC. SIDEWALK

TYP. T N
5 EL. 905.67

5/8"¢ X 12" HKD.
316SS ANCHOR BOLT

©
; |
12" CONC. FTG. —w={ | "
(2 REQ'D) :
5-10 1/2" 6"

(7" RISERS TYP.)
~ 2 TREADS @ 10 1/2"=1-9"+

|

i

}

|

i

|

|
q'\

i
N

P~

i

6
-
L

24” INSULATED PRECAST ROOF DT

20)7

)
1
x
i

S5

ROOF EL. 949'—9"/

FUTURE WALKWAY TO T.F. NO.

TYP.

8~0" TYP.

CONT. WALL PANEL
CORBEL EDGE (TYP.)

316SS BOLTS AS REQ'D
BY FAN MANUFACTURER

1/470 316SS ADHESIVE

ANCHOR WITH NEOPRENE
WASHER (TYP. 3 EA. SIDE;)\\

SUPERIMPOSED LOADS:
DEAD LOAD = 10 P.S.F. (MISC.)

SNOW LOAD = 40 P.S.F. (WITH
INCREASE DUE TO DRIFTING)

16'-0" TYP.

20",
TYP.T
{

o

SEE _ROOF DRAIN & DOWNSPOUT DETAIL / 27\

==

TYPICAL 4 PLACES \s11)

TRICKLING FILTER ROOF AND STAIR PLAN

Scale: 1/4” = 1"-0"

——— FRP FAN HOUSING, SEE SHEET M2

—-—0 2" X 1/8” NEOPRENE GASKET

AA 6 X 0.17 WEB, 2.50 X 0.29 FLG.
ALUMINUM CHANNEL MITERED & WELDED

ot bt e ettt 4 ket
(g? LS N S S SN% 10S ENIU O U 0 A O % O O O W

oy Ty 1

Eboe bbb dd b dedoged fb do s 4 dpge

T

~—o 27 X 1/8" NEOPRENE GASKET

20" X 20" OPENING

INSULATED PRECAST DT ROOF PANELS

TRICKL

NG

LTER

SUPPLY FAN DETAIL /1

Scale: 1 1/2" = 1'=0"

ER15T-11

N8/

MANUALLY OPERATED SKYLIGHT
ROOF SCUTTLE WITH ALUM. CURB
FRAME & FLASHING ADAPTOR

3 X 2 X 3/16 ALUM. L

1/4"9 316SS ADHESIVE
ANCHOR WITH NEOPRENE
WASHER (TYP. 3 EA. SIDE)

\— ACRYLIC DOME

RIGID INSULATION

- 1"

o
A
+
7
i
-

1&»——~ ALUM. FLASHING

== 3" X 1/8” NEOPRENE GASKET

30" X 36" OPENING

— SOLID CONC. TYP. AROUND OPENING (BY PRECASTER)

TRICKLING

! | SOLID CONC. TYP. AROUND OPENING

(BY PRECASTER)

— INSULATED PRECAST DT ROOF PANELS

LTER SKYLIGHT

ROOF SCUTTLE DETAIL /2

Scale: 1

2
\S7/

1/2” — 1 ,——O”

5/\_SEE_CAGED ROOF ACCESS LADDER DETAIL / 3\ S

Scale:

3

6”

]

1/2" = 1'-0

INSULATED PRECAST

7T T 7
yaa ,%ﬁﬂ Py bt d T.;M;k piey

2

@ @

@ @ 00 6

el

KEY NOTES:

316 STAINLESS STEEL EMBEDDED WELD & CONNECTION
PLATES FOR RING TENSION AT DT WALL PANEL JOINT
DESIGNED & PROVIDED BY PRECASTER.

ADDITIONAL DIAGONAL BARS SHALL BE CAST IN DT

FLANGE AT PENETRATION CORNERS, TYP. ALL PENETRATIONS. :

REMOVABLE DT ROOF PANELS.
ROOF DT AND WALL DT PANELS SHALL BE DESIGNED &
PROVIDED BY THE PRECASTER.

SHALL BE 316 STAINLESS STEEL.

HOOKS FOR ALL REMOVABLE DT ROOF PANELS.

FIXED DT ROOF PANELS.

ALL CONNECTIONS BETWEEN s
ALL CONNECTION HARDWARE

THE PRECASTER SHALL T
ALSO DESIGN & PROVIDE 316 STAINLESS STEEL HANDLING -

ALL CONNECTIONS BETWEEN ROOF

S

<

@)

N

6" =6 1/4”

STAIR FOOTING DETAIL /2
-

Scale: 1/2" = 1"-0"

INSULATED PRECAST

17 GALV. GRATING ON

F\ SEE_RAILING DETAILS /75 B

L2 1/2 X 2 1/2 X 1/4

A

DT WALL PANEL STEM
(SEE NOTE 6 @ LEFT)

-

87/

12"X36” WELDED GALV. GRAT

WITH 7/16"¢ HOLES FOR 2 - 3/8"¢
316SS BOLTS EA. SIDE

NG STAIR

TREAD WITH CHECKERED PLATE NOSING

WITH 7/16”¢ HOLES FOR 2 -
316SS BOLTS EA. SIDE (TYP.)

WELDED TO C12X20.7

512/

C12X20.7 BOLTED TO W6X12 1]
WITH 2 — 3/8” 316SS BOLTS B
AND BEVELED WASHERS (TYP.) [

16
N @—7——<3/6 TYP.

<
C
™
.

3/8"

\SEE RAILING DETAILS /7

WEX12

SEE BRACKET DETAIL /15"

M 74,§J podey b

e

e

WT4X6.5 KNEEBRACE 2 ,

b

3/16"

DT AND WALL DT PANELS SHALL BE DESIGNED & PROVIDED

BY PRECASTER. ALL CONNECTION HARDWARE SHALL BE
316 STAINLESS STEEL.

20" X 20" OPENING FOR FAN (TO BE VERIFIED)
FAN WT. = 315 LB. (2 THUS)

30" X 36" OPENING FOR SKYLIGHT ROOF SCUTTLE
(TO BE VERIFIED) SKYLIGHT WT. = 100 LB. (5 THUS)

1'—4"W X 9 1/2"H OPENING IN DT WALL PANEL FLANGE
FOR OVERFLOW SCUPPER AT INVERT 949'_*9” (4 THUS)

SEAL DT ROOF PANEL JOINT WITH FOAM BACKER ROD
AND SEALANT TOP & BOTTOM (TYP.)

PEDESTAL BASE FOR PORTABLE DAVIT CRANE
(1500 LB. LOAD RATING @ 46" ARM, 900 LB. LOAD
RATING @ 70" ARM). ANCHOR PER MANUFACTURER.

STAIR AND LANDING NOTES:

1. DETAILED FABRICATION DRAWINGS CERTIFIED
BY A MINNESOTA REGISTERED STRUCTURAL
ENGINEER SHALL BE SUBMITTED TO THE
ENGINEER FOR PRIOR APPROVAL.

2. ALL STAIR & WALKWAY MEMBERS & BRACKETS
SHALL BE HOT-DIP GALVANIZED PER ASTM
A123 FOLLOWING FABRICATION. ALL FIELD
CUTS & WELDS SHALL BE BRUSHED TO BARE
METAL AND COLD GALVANIZED.

3. ALL BOLTS & CONNECTING HARDWARE
SHALL BE 316 STAINLESS STEEL.

4. ALL GRATING SHALL BE 1" GALV. STEEL WITH
BRG. BARS SPACED TO SUPPORT A SUPER-
IMPOSED UNIFORM LOAD OF 150 P.S.F. AND
MAX. DEFLECTION OF 1/4" @ 100 P.S.F.

5. ALL STAIR TREADS SHALL BE 1”7 GALV. STEEL
WITH CHECKERED PLATE NOSING WITH BRG.
BARS SPACED TO SUPPORT A CONCENTRATED
LOAD OF 300 LBS. @ CENTER OF SPAN.

6. ALL PRECAST CONCRETE DIMENSIONS
SHALL BE VERIFIED PRIOR TO FABRICATION.

2] ¢

»7

Gz

/\/ TYP. :
LANDING SUPPORT SECTION /5™

8"X10"X1/2" B WITH 2-5/8" 316SS BOLTS
TYPICAL TOP & BOTTOM BRACKETS

\$19/ £

i
7)1

L5 X 3 X 5/16

3/16”

TYP.

WEX12

WT4X6.5 KNEEBRACE

SEE BRACKET DETAIL /15

8” 1'—-6 1/4”

Scale: 3/4" = 1"-0"

INSULATED PRECAST

i#

|
{

I DT WALL PANEL STEM

T

U

/\/

L21/2X21/2 X 1/4 WTH

/— 17 GALV. GRATING

(SEE NOTE 6 @ LEFT)

—1/4" 316SS MASONRY ANCHORS
@ 67 WITH 17 MIN. EMBEDMENT

U

4 L] L] L} T 1 ] 1 T

T

I
"‘f

gl { »

3-5

/ W14X43

3/16"

87/

TYP.

SEE RAILING DETAILS /5 N\ / 7\

s SIASEY,

\ 4
i
Lo )
I 7

4” X 1/4" TEMPORARY TOEPLATE
C7X12.25

3/16”

FUTURE W14X43
WALKWAY BEAM

(si5/

8"X10"X1/2" B WITH 2-5/8" 316SS BOLTS
TYPICAL TOP & BOTTOM BRACKETS

8"X8"X1/2" B WITH 2 — 5/8%¢ X 4~
316SS EXP. ANCHOR BOLTS TYPICAL
TOP & BOTTOM BRACKETS

TYPICAL CONNECTION AT FOUNDATION WALL

STAIR SUPPO

T SECTION /5

Scale: 3/4" = 1'-Q”

\s7/

S

C12X20.7 STAIR STRINGER

—— BOLTED TO WBX12 WITH
2 - 3/8" 316SS BOLTS

SEE RAILING DETAILS /5

C7X12.25 BOLTED TO W14X43
WITH 3/8" 316SS BOLT AND
BEVELED WASHER (TYP.) ~

SEE BRACKET DETAIL

18 “
S10 ;

W14X43 SEE DETAIL

16

16
3187 rvp

HENDY "
WALKWAY LANDING S

B —

b

{510/ *

8"X22"X3/4” B WITH 4 — 5/8” 316SS BOLTS
TYPICAL TOP & BOTTOM BRACKETS

7/8"®% HOLES

UPPORT SECTION /7

Scale: 3/4" = 10"

N

1/4" X 687 X 9 3/4" p
FOR 5/8%¢ 316SS BOLTS —/

TYP. FIELD SPLICE DETAIL /3

Scale: 1 1/2° = 1-0

\87/

Gz

/—~ 17 GALV. GRATING

I HEREBY CERTIFY THAT THIS PLAN, SPECIFICATION,
OR REPORT WAS PREPARED BY ME OR UNDER MY DIRECT
SUPERVISION AND THAT | AM A DULY REGISTERED

PROFESSIONAL ENGINEER UNDER THE LAWS OF QTHE

?j OF MINNESOTA g e : /
DATW_, REG.NO. Zlmm

CONSULTING ENCINEERS

1326 ENERGY PARK DRIVE
ST. PAUL, MINNESOTA 55108
(612) 644-4389

9800 SHELARD PARKWAY

MINNEAPOLIS, MINNESOTA 55441

(612) 546-0432

REVISIONS

CATE DESCRIPTICN DESIGNED DLC _GG

CHECKED _LJL

CITY OF ELK RIVER

DRAWN GG

GRAPHIC SCALE

O noriz. 4

TRICKLING FILTER
ROOF & STAIR PLAN & DETAILS

WASTEWATER TREATMENT FACILITIES

S7

L
4
O verT. 4

i |

paTe  DEC. 1993

steeT 14 o 41 sheers

PROJECT NO.

_230-151




